Bk (PR YR gZE M allikiE)
BEBRAHL . G-FITHEES
o O IRRBIKREHEMETZT B11E#
BiEE & - K% (XKEFR =T F[]
#H PR O FEAH A e
(FifedEE A1 N%720)
B R ORI\ BT R 70,000 [ [EMANEE - 2200 + HREFEHE AR
EHIBEEE & OSBRI E T o B 50,000 M |4 )% = He 528 A4 4K
WA e |20 E i & DS - ikl 2B A 50,000 M |4 )% = He 528 A4 4K
SME D% R~ 5 B 120, 000 [ |42 )+~ B 558 AR 4
ZOfth (MWOR G2 %) 230, 000 [ JMWwoxkgx% FH200, 000 (7 4 U B D)
i FR A 20, 000 [ ha% o FIk -+ 23 E 4
AT 4 70,000 [ |GEATHI4 -~ iEE 5K
- AR 20, 000 F eGR4 + 52 A4
ECTE ¢ 5,000 H |3=#
HEE T 70,000 [ |E%#
Zoft GEE#) 5,000 4
BICHET D A% 10, 000 F JEEFHI A2 <+ BeE 58 AR 2L
B AR FAICEE L W 10, 000 F3 JEFfH] 238 8 + HeRE SR B AR5
Z O GBIRE) 10, 000 [
TREFEH AN E T 2 E 70,000 M |E%
ET— FRRR » RIS 58 10,000 [ %%
S 10,000 [ |F s e + HAEEH A5
Z D 10,000 4
& & 840, 000 M

SFAZOWTEBIRTHY . BERIZOW T

IR LER AL 7,




GUE)

FERFERME 1 HHTZY OEFHHEFIZONT

[1. HEeSEEA 1 NN 7= o EAFH%E]
<1 FHEEEAE>
(WEERN T + (38 + EEgEEEE | + [0k =520, 000/ + 190, 0009 -+ 30, 000 + 100, 000 =840, 000

<%2ﬁﬂﬂ%3ﬁﬁﬁiéé>
(e gy | + T Z2oEERE | =30, 000 + 100, 000 =130, 000



Bk (PaBE YRR S R kmRELIoN)
BEBRAHL . G-FITHEES
o O IRRBIKREHEMETZT B11E#
BiEE & - K% (XKEFR =T F[]
#H PR O FEAH A e
(FifedEE A1 N%720)
B R ORI\ BT R 70,000 [ [EMANEE - 2200 + HREFEHE AR
EHIBEEE & OSBRI E T o B 50,000 M |4 )% = He 528 A4 4K
WA e |20 E i & DS - ikl 2B A 50,000 M |4 )% = He 528 A4 4K
SME D% R~ 5 B 120, 000 [ |42 )+~ B 558 AR 4
ZOfth (MWOR G2 %) 180, 000 [ IMWOB &2 F1150, 0001 (7 1 U B> D )
i FR A 20, 000 [ ha% o FIk -+ 23 E 4
AT 4 50, 000 [ |GEATHI4 +— S iEE 4K
- AR 10, 000 F piEFER#H + 2 aHE K
ECTE ¢ 5,000 H |3=#
HEE T 70,000 [ |E%#
Zoft GEE#) 5,000 4
BICHET D A% 10, 000 F JEEFHI A2 <+ BeE 58 AR 2L
B AR FAICEE L W 10, 000 F3 JEFfH] 238 8 + HeRE SR B AR5
Z O GBIRE) 10, 000 [
TREFEH AN E T 2 E 70,000 M |E%
ET— FRRR » RIS 58 10,000 [ %%
A 10,000 [ |FE#pTie s + HRfe 388 A 5
Z D 10,000 4
& & 760, 000 [
BENZOWTIIBIRTH Y . IOV TTEUNRERE L ER 2 IR L £,




GUE)

FERFERME 1 HHTZY OEFHHEFIZONT

[1. HEeSEEA 1 NN 7= o EAFH%E]
<1 FHEEEAE>
(WEERN T + (38 + EEgEEEE | + [0k =470, 000/ + 160, 0009 -+ 30, 000 + 100, 000 =760, 000

<%2ﬁﬂﬂ%3ﬁﬁﬁiéé>
(e gy | + T Z2oEERE | =30, 000 + 100, 000 =130, 000



